


CENTRIFUGAL PUMPS

3 series-2 poles

65-250,80-160,80-200 and 80-250

CONTENTS 50 Hz
rev.0
Page
- SPECIFICATIONS
PUMP SPECIFICATIONS 200
MOTOR SPECIFICATIONS 201
SELECTION CHART 202
SELECTION CHART 203
SELECTION CHART 204
PERFORMANCE CURVE 65-250 205
PERFORMANCE CURVE 80-160 206
PERFORMANCE CURVE 80-200 207
PERFORMANCE CURVE 80-250 208
- CONSTRUCTIONS
SECTIONAL VIEW : 3LM(.)80-160/11 - 80-160/13 300
SECTIONAL VIEW : 3LM(.)80-160/15 — 80-160/18.5 301
CONSTRUCTIONS : 3LM(.)80-160 302
SECTIONAL VIEW :3LS(.)80-160 303
CONSTRUCTIONS : 3LS(.)80-160 304
SECTIONAL VIEW : 3LS(.)65-250,80-200/250 305
CONSTRUCTIONS : 3LS(.)65-250,80-200/250 306
SECTIONAL VIEW : 3LP(.)80-160 307
SECTIONAL VIEW : 3LP(.)65-250,80-200/250 308
SECTIONAL VIEW : 3LP(.) 309
CONSTRUCTIONS : 3LP(.)80-160 310
CONSTRUCTIONS : 3LP(.)65-250,80-200/250 311
CONSTRUCTIONS : BALL BEARING 312
MECHANICAL SEAL : L VERSION 313
MECHANICAL SEAL : H VERSION 314
MECHANICAL SEAL : E VERSION 315
CONSTRUCTIONS : COUPLING 316
CONSTRUCTIONS : FLEXIBLE COUPLING 317
CONSTRUCTIONS : COUNTERFLANGE 318
CONSTRUCTIONS : GASKET FOR COUNTERFLANGE 319
- DIMENSIONS
DIMENSIONS : 3LM(.)80-160/11 - 80-160/13 400
DIMENSIONS : 3LM(.)80-160/15 — 80-160/18.5 401
DIMENSIONS : 3LS( 402
DIMENSIONS : 3LS( 403
DIMENSIONS : 3LS( 404
DIMENSIONS : 3LS( 405
DIMENSIONS : 3LP( 406
DIMENSIONS : 3LP( 407
DIMENSIONS : 3LP(.) 408
PACKING AND WEIGHT : 3LM(.) — 3LS(.) 409
DIMENSIONS AND WEIGHT : 3LP(.) 410
100

——J =TT

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series-2 poles
65-250,80-160,80-200 and 80-250
CONTENTS 50 Hz
Pags rev.0
- MOTOR DATA
TECHNICAL DATA 500

101

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series-2 poles
65—-250,80-160,80-200 and 80-250

P U M P SPECIFICATIONS

O-ring for plug

50 Hz
rev.0
80-160 3LM 3LMH 3LME
: 65-250
Pump sizes  gg_160 3LS 3LSH 3LSE
Version 80-200
80-250 3LP 3LPH 3LPE
. : standard H E
Materials options . . .
version version version
. Clean water
N Water with moderately L
Type of liquid . i Drinking water
Liquid aggressive fluids Water contains glycol
Handled min. 10 20
Temperature [°C]
max. +110 +120
Maximum working pressure [MPa] 1
Impeller Closed centrifugal three dimensional blades
Mechanical seal
Shaft seal type W'.th stationary Mechanical seal
ring secured
against rotation
Sucti 65-250 Flange DN 80 according DIN 2532 standard
uction
] . 80-160/200/250 | Flange DN 100 according DIN 2532 standard
Pipe Connection -
Disch 65-250 Flange DN 65 according DIN 2532 standard
ischarge
g 80-160/200/250 | Flange DN 80 according DIN 2532 standard
Casing
Impeller EN 1.4401 (AIS| 316) Made by precision casting
65-250
Casing cover 80-200/250
80-160 EN 1.4404 (AISI 316L)
Plug EN 1.4404 (AISI 316L)
Rotary SiC Ceramic SiC
Mechanical seal Stationary SiC Carbon Carbon
Rubber
O-ring FPM EPDM

65-250 d=24 | EN 1.4462 (Duplex stainless steel) for 30-37 kW
80-160 d=24 [ EN 1.4404 (AISI 316L)

Shaft 80-200 de2d EN 1.4404 (AISI 316L) for 22 kW
80-200 EN 1.4462 (Duplex stainless steel) for 30-37 kW
80-250 d=29 | EN 1.4462 (Duplex stainless steel)

Bracket Cast iron EN-GJL-250

200

——J =TT

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series-2 poles
65-250,80-160,80-200 and 80-250

M OTO R SPECIFICATIONS

50 Hz

rev.0

Version

Pump application

3LM

3LS

3LP

80-160

65-250

80-160 / 80-200 / 80-250

Electric-TEFC

Type
P Three phase
No.of Poles 2
Rotation speed [min™] ~2900
Insulation class F(class B for temperature rise)
Protection degree IP 55
_ [kW] 11+18.5 11+55
Power rating
[HP] 15+25 15+75
Frequency [HZ] 50
Voltage V] 400/690 +10%
Casing material Aluminium
_ _ PG 135 No.2 -M40x1.5
Dimensions of cable entry PG 21 - M50x1.5
- M63x1.5
Flange mount (IEC motor) / IMB 35 IM B3
201

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series-2 poles

65-250,80-160,80-200 and 80-250

SELECTION CHART o0 Hz

rev.0

TYPE KEY

[ 3 [ L | m|H[ 80 |-[200]/] 30|

Motor output in kKW gg
22
. 250
Impeller diameter code 200
160
Discharge size 80
65
Materials options H
E
P
Model type 3
M
Version
3 Series

PERFORMANCE CURVES

The specifications below qualify the curves shown on the following pages.

*
*
*

*

Tolerances according to ISO 9906 Annex A
The curves refer to effective speed of asynchronous motors at 50 Hz
Measurements were carried out with clean water at 20°C of temperature and with a kinematic viscosity
of v=1mm?s (1 cSt)
The NPSH curve is an average curve obtained in the same conditions of performance curves.
During the pump selection, consider to get a safety margin of at least 0.5 m.
The continuos curves indicate the recommended working range. The dotted curve is only a guide.
In order to avoid the risk of over-heating, the pumps should not be used at a flow rate below 10%
of best efficiency point.
Symbols explanation:

Q = volume flow rate

H = total head

P, = pump power input (shaft power)

n = pump efficiency

NPSH = net positive suction head required by the pump

202

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series-2 poles
65-250,80-160,80-200 and 80-250

SELECTION CHART 50 Hz
3 series 65
Pump type Version Motor Q=Capacity
kW | HP | Umin 0| 600/ 700/ 900| 1200| 1500| 1700| 1900| 2100 2200| 2300| 2400| 2500
mh 0| 36| 42| 54| 72| 90| 102| 114| 126/ 132| 138 144| 150
H=Total manometric head in meters
65-125/4.0 4 | 55 222/ 19.8| 19 | 173|144 | 11 | 86 | 6.3 - - - - -
65-125/5.5 55 | 75 27| - | 24 |222|19.1|157| 133|108 | 8 s = - =
65-125/7.5 75 | 10 32| - | 295|27.8| 247|211 | 187 |16.1| 134 | 12 - - -
65-160/7.5 75 | 10 32| - | 30 | 286|259 225|19.9| 171|142 | - - - -
65-160/9.2 BUM3(L)S(LIP 9.2 | 125 36.5| - |345|328|299|265|239|21.1| 183|168 | - - -
65-160/11 11 15 405 - |385|37.1|342|309|284|258| 23 | 215| 20 - -
65-160/15 15 | 20 48| - | 455| 44 | 41.0| 378|353 |326|296| 28 | 265 | - =
65-200/15 15 | 20 535 - | 51 | 49 | 455 | 415|384 353|318 | 30 - - -
65-200/18.5 18,5 | 25 605 - |585|565|53.0| 49 | 46 | 43 | 397 | 38 |363| - -
65-200/22 22 | 30 67.00 - |655| 64 | 605| 57 | 54 | 51 | 48 | 465| 45 - -
65-250/30 3LS()3LP() 30 | 40 78.0| - - 77 | 745| 71 | 68 | 645| 60 | 57.5| 55 | 52 -
65-250/37 ) ) 37 | 50 89.0| - - 88 | 86.5| 83 |80.5|775| 74 | 72 | 70 | 675]| 65
| | ALREADY AVAILABLE
3 series 80
Pump type Version Motor Q=Capacity

kW | HP | Umin 0| 1300| 1800/ 2200| 2600| 3000/ 3400/ 3600| 3800| 4000

mh 0 78| 108| 132| 156| 180| 204| 216| 228 240
H=Total manometric head in meters

80-160/11 3LM()-3LS(.)-3LP() | 11 | 15 29] 27.3 | 24.8 | 224 | 19.7 | 164 | 125 - - -
80-160/13 SLM() 18 1175 32| 305 | 28.3 | 259 | 23.3| 20.1 | 165 | 145 | - -
80-160/15R 3LS(.)-3LP(.) 15 | 20

80-160/15 3LM()-3LS()3LPL) 35| 34 | 32 | 30 | 275|244 21 | 191 17 | -
80-160/18.5 185 | 25 40] 39 | 372352329 30 | 26.4] 244223 20
80-200/22 22 | 30 50| 48 | 45 | 42 | 379|332 | 278|250 - -
80-200/30 30 | 40 60| 58.5 | 56.5| 54 | 50.5| 46.5 | 41.5 | 39 | 36.1| 33
80-200/37 ALS(}ALP() 37 | 50 66| 64 | 61.5| 59 | 555 | 51.5| 47 | 445 | 415 | 38.5
80-250/37 37 | 50 73| 715 | 675| 63 | 565 | 485| 38 | - - -
80-250/45 45 | 60 84| 825| 79 | 75 | 695| 62 | 53 | 48 | 423 -
80-250/55 55 | 75 95/ 935 | 91 | 87.5|825| 765|685 | 645| 60 | 55

203

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series-2 poles
65-250,80-160,80-200 and 80-250

SELECTION CHART o0 Hz

rev.0

U.S.g.p.m. 50 60 70 80 90100 120 140 160180200 250 300 350 400 500 600 700 1000

I
Imp.g.p.m. 40 50 60 70 80 90100 120 140 160180200 250 300 350 400 500 600 700 1000

120
— 350
100
— 300
e 6’0
_ =S 4
H 55\“‘“*-‘--. ) H
250/30 = N \25 TN
[m] 30 — — — [ N ™ \l ‘4_‘ 0{5 [ft]
60 200 90-200 PN 1 [, - 200
?00 ~ > {5‘0 \
50 55\\20 T ;;)\\\
0 | x% —150
40— 5 BN
F NG N\
35\00 ng;a/ \
32-160 N\ / N2
30— 0. & /680 ) PN F —100
/6'0 0\/ N\ N,
% N%
T™N70 X7
[T\
[ NEEENGAN 75
\ IN? N\
20— N ‘C‘% /{5\\
32-125 % [ >
\/{«,« %\/ ey y‘\‘%/xf
N
3 AN
2\
/ z - 40
10
_ — 30
: [ /
8_
— 25
7_
6 — — 20
1
5 I I I I I I I I I I I I I
100 120 150 200 250 300 400 500 600 700800 1000 1200 1500 2000 2500 3000 4000 5000
Q [I/min]
[ T T 1 I 1T T 1 I I I l I I I I I |
6 7 8 910 12 14 16 1820 25 30 40 50 60 70 100 150 200 300
Q [m /h]
204

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series-2 poles
65-250,80-160,80-200 and 80-250

PERFORMANCE CURVE 50 Hz
rev.0
65-250/30 (30 kW) - impeller diameter = 235 mm
65-250/37 (37 kW) - impeller diameter = 250 mm
0 US.g.p.m. 100 200 300 400 500 600 700
| l l l l l | l
I T T T T I T
0 Imp.g.p.m. 100 200 300 400 500 600
100
H —300 H
[m] 1717 ~— 2503, (1]
—
80 T~
—— = \ ‘ N~
~—_ 250 SN — 250
~—Y/30 "~
\\ \
\\
N
60 — 200
NPSH
[m] [ft]
10 — 150
— 30
40 811
NPSH =t
I
= — 4 P10
= — 10
25
20
0 400 800 1200 1600 2000 2400 Q [1/min]
T T T T T T T T T
0 20 40 60 80 100 120 140 Q [m3/h]
40 T
P2 —— —250/371
[kw) % PE—— —— 250,/30
— |
20 —
10
0 400 800 1200 1600 2000 2400 Q [1/min]
80
. — |
— —
[%] 70 — 250/37 |
= 250,/30
Zal
60
50
0 400 800 1200 1600 2000 2400 Q [I/min]
Rotation speed 2900 min-1
Test standard : ISO 9906 Annex A
205

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series-2 poles

65-250,80-160,80-200 and 80-250

PERFORMANCE CURVE 50 Hz
rev.0
80-160/11 (11 kW) - impeller diameter = 154 mm
80-160/13 (13 kW) - impeller diameter = 160 mm
80-160/15R (15 kW) - impeller diameter = 160 mm
80-160/15 (15 kW) - impeller diameter = 165 mm
80-160/18.5 (18.5 kW) - impeller diameter = 174 mm
0 US.g.pm. 200 400 600 800 1000 1200
| l l l l l |
[ 1 1 1 1 I
5 0 Imp.g.p.m. 200 400 600 800 1000
—160
H
[m] — 140
40 —
~ 76 —120
T ~L15 5
~~ TS
1= — /‘ | -~ L
CIU s s s — 80,5 100
e N 7 \
6, N,
~ X5 N N - 80
7
20 N NG
. N\ 60
NG Y
N NPSH
[m] [ft]L 49
10 10
— 30
NPSH 8
| — — 62020
4_
10
0 0
0 1000 2000 3000 4000 Q [I/min]
I 1 1 1 1 1 1
0 50 100 150 200 250 Q [m3/h]
20
P, —— i 160/18.5
[kw] 16 — 160/15
12 T " 160/13
- | '
. - 1‘60/‘11
0 1000 2000 3000 4000 Q [I/min]
90 ‘ |
n
(%] 80 A
3 s
NN N 160/15
70 = \\\ 160/18.5
160/11\*160/13 [ ]
60 — —
0 1000 2000 3000 4000 Q [I/min]
Rotation speed =2900 min-1
Test standard : ISO 9906 Annex A
206

——J =TT

EBARA PUMPS EUROPE S.p.A.



3 series-2 poles
65-250,80-160,80-200 and 80-250

CENTRIFUGAL PUMPS

PERFORMANCE CURVE 50 Hz
rev.0
80-200/22 (22 kW) - impeller diameter = 196 mm
80-200/30 (30 kW) - impeller diameter = 211 mm
80-200/37 (37 kW) - impeller diameter = 219 mm
0 US.gpm. 200 400 600 800 1000 1200
| | | | | | |
I 1 1 1 1 I
5 0 Imp.g.p.m. 200 400 600 800 1000
— 250
H H
[m] L [ft]
60 M~ 200 - 200
T [ %
200
e 50\\\
T T~ NN
~ . \\\i\‘\ 150
Y
40 905 NN
\\ \\
™\ A —100
N NPSH
[m] [ft]
20 8y
6—20 50
NPSH - \ s
2715
0 0
0 1000 2000 3000 4000 ' [1/min]
I 1 1 1 1 1 1
0 50 100 150 200 250 Q [m¥/h]
40 T
P, - 200/37
[kw] 0 L 200/30
20 —_— 200,/22
—
10
0 1000 2000 3000 4000 Q [I/min]
90
n
(%] 80 "
= N 200/37
7 \\ N
70 77 N 200/30
/ 200/22 —
60 L1 ‘ ‘
0 1000 2000 3000 4000 Q [I/min]
Rotation speed 2900 min-1
Test standard : ISO 9906 Annex A
207

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series-2 poles
65-250,80-160,80-200 and 80-250

PERFORMANCE CURVE o0 Hz

rev.0

80-250/37 (37 kW) - impeller diameter = 230 mm
80-250/45 (45 kW) - impeller diameter = 245 mm
80-250/55 (55 kW) - impeller diameter = 259 mm

0 US.gpm. 200 400 600 800 1000 1200
| | | | | | |
I 1 1 1 1 I
0 Imp.g.p.m. 200 400 600 800 1000
100
—_—— “'—\\\‘ 2 — 300
] T — [
80 ~—
25 | N 250
I s b e WU 35 N
~— ‘ \\
N 2 T ™N
60 SO/J; \\\ - 200
\\ \\
N \\
\\ \\1 150
40 \\1
NPSH 100
[m] [ft]
20 8 25
NPSH = 620050
— 4
10
275
0 0
0 1000 2000 3000 4000 Q [I/min]
T T T T T T 1
0 50 100 150 200 250 Q [m¥/h]
70 I I
P2 250/55
50
- —— 250/45
30 E: — 250 / 37
10 ||
0 1000 2000 3000 4000 Q [I/min]
80
n ='\\
(%] 70 /4/ N \‘\\\\
"0 \‘ N 250/55
/7
60 N AN ‘
250/37 250/45
50 L1 1 | \
0 1000 2000 3000 4000 Q [I/min]
Rotation speed =2900 min-1
Test standard : ISO 9906 Annex A
208

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series-2 poles
65-250,80-160,80-200 and 80-250

consTrucTions 3L M(.) 50 Hz

rev.0

80-160/11 — 80-160/13

1 7 34 32 11 4 26 3 56 16 17 58 6 12 13 14 15 75 24 77

Dol

30 25 76 78 235200 244 18 92 19 101 201 42 22 220 20 21 93
200A

300

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series-2 poles
65-250,80-160,80-200 and 80-250

consTrucTions 3L M(.) 50 Hz

rev.0

80-160/15 — 80-160/18.5

7 32 4 26 3 18 206 56 16 17 58 12 13 14 15 75 24 77

T

| NS
TN ]

1 25 76 78 34 11 235200 244 92 19
200A

g
%%— 30

301

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series-2 poles
65-250,80-160,80-200 and 80-250

consTrucTions 3L M(.) 80-160

50 Hz

rev.0
° N. FOR
N PART NAME MATERIAL DIMENSIONS STANDARD
1 UNIT
3LM \ 3LMH \ 3LME

001 |Casing EN 1.4401 (AISI 316) 1
003 |Motor bracket Cast iron EN-GJL-200-EN 1561 1
004 |Casing cover EN 1.4404 (AISI 316L) 1
006 |Shaft with rotor EN 1.4404(AISI 316L) -Part in contact with liquid 1
007 |Impeller EN 1.4401 (AISI 316) 1
011 |Mechanical seal SiC/SiC/IFPM ‘ Ceramic/Carbon/FPM ‘ SiC/Carbon/EPDM See table p. 313-314-315 1
012 |Motor frame with stator - 1
013 |Motor cover Aluminium 1
014 |Fan Poliammide 1
015 |Fan cover Fe P04 Zinc-coated 1
016 |Terminal - 1
017 |Terminal box cover Aluminium 1
018 |[Splash ring NBR 50x29.5x3 EPE DRAWING 1
019 |Bearing - See table p. 312 1
020 |(Bearing - See table p. 312 1
021 |Adjusting ring Steel C70 1
022 Tie rod 11-13 kKW Fe 42 Zinc-coated EPE DRAWING 4
Screw 15-18.5 kW Zn. Steel 8.8 strenght class I1ISO 898/1 UNI 5739 4
024 |Plug EN 1.4404 (AISI 316L) G3/8 EPE DRAWING 1
025 |Plug EN 1.4404 (AISI 316L) G 3/8 EPE DRAWING 1
026 |"O"ring FPM ‘ EPDM 227.96x5.34 OR 6895 1
030 |Spacer / EN 1.4404 (AISI 316L) ‘ 30.5x40x2.5 (15 kW and above) | EPE DRAWING 1
032 |Key EN 1.4401 (AISI 316) 8x7x30 UNI 6604 1
034 |Impeller nut EN 1.4404 (AISI 316L) M20x1.5 UNI 7474 1
042 |Foot Aluminium EPE DRAWING [11
056 |Box gasket NBR 1
058 |Fasting nut - [2]
075 _|Washer (plug) EN 1.4404 (AISI 316L) !
076 |Washer (plug) 1
077 O-r!ng (plug) FPM EPDM 1
078 |O-ring (plug) 1
. 11-13 kW 40x55x7 DIN 3760 1

092 Lip seal - . X
15-18.5 kW 45x60x7 without spring 1
. 11-13 kW 40x55x7 DIN 3760 1

093 Lip seal - X X
15-18.5 kW 45x60x7 without spring 1
101 |Snap ring (only 11 - 13 kW) Carbon tool steels TC 80 40 UNI 7435 1
200_|Screw Stainless steel A2-70 class ISO 3506/1 M 10x35 UNI 5739 10
200A |Screw M 10x30 2
201 |Screw - 13kW Zincked steel 8.8 strenght class 1ISO 898/1 M 6x40 UNI 5739 !
15-18.5 kW M 12x40 4
206 |Screw for bracket (only 15 - 18.5 kW) Zincked steel 8.8 strenght class 1ISO 898/1 M 10x40 UNI 5739 4
220 |Nut for tie rod (only 11 - 13 kW) Zincked steel M10 UNI 5588 4
230 |Washer 11-13 kW — - - -
15-18.5 kW Zincked steel 13x24x2,5 UNI 6592 4
235 |Washer EN 1.4301(AISI 304) 10.5 UNI 8842 12
244 |Pin EN 1.4301(AISI 304) ‘ / 4x15 1

Counterflange kit on request, see table p. 318-319

[1] N° for 1 unit=1 for version 3LM(.) 80-160/11, 3LM(.) 80-160/13

N° for 1 unit=2 for version 3LM(.) 80-160/15, 3LM(.) 80-160/18.5

[2] N° for 1 unit=1 for version 3LM(.) 80-160/11, 3LM(.) 80-160/13

N° for 1 unit=2 for version 3LM(.) 80-160/15, 3LM(.) 80-160/18.5

302

E2ARA

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series-2 poles
65-250,80-160,80-200 and 80-250

consTrucTions ILS(.) 80-160 50 Hz

rev.0

235 200 244 6 42 12
200A

303

% E2ARA EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS 3 series-2 poles
65-250,80-160,80-200 and 80-250

consTrucTions ILS(.) 80-160 50 Hz

rev.0
j N. FOR
N PART NAME MATERIAL DIMENSIONS STANDARD
1 UNIT
3LS 3LSH 3LSE
001 |Casing EN 1.4401 (AISI 316) 1
003 |Motor bracket Cast iron EN-GJL-200-EN 1561 1
004 |Casing cover EN 1.4404 (AISI 316L) 1
006 |Coupling EN 1.4404 (AISI 316L) See table p. 316 1
007 |Impeller EN 1.4401 (AISI 316) 1
011 |Mechanical seal SiC/SiC/FPM Ceramic/Carbon/FPM ‘Sic/Carbon/EPDM See p. 313-314-315 1
012 |Motor - 1
024 |Plug EN 1.4404 (AISI 316L) G3/8 EPE DRAWING 1
025 |Plug EN 1.4404 (AISI 316L) G3/8 EPE DRAWING 1
026 |"O"ring FPM \ EPDM 227.96x5.34 OR 6895 1
030 |Spacer / EN 1.4404 (AISI 316L)‘ / 30.5x40x2.5 EPE DRAWING 1
032 |Key EN 1.4401 (AISI 316) 8x7x30 UNI 6604 1
034 |Impeller nut EN 1.4404 (AISI 316L) M20x1.5 UNI 7474 1
042 |Foot Aluminium EPE DRAWING 2
044 | Protection EN 1.4301 (AISI 304) EPE DRAWING 2
075 |Washer (plug) !
076 |Washer (plug) EN 1.4404 (AISI 316L) 1
077 O-r?ng (plug) EPM EPDM 1
078 |O-ring (plug) 1
200_|Screw Stainless steel A2-70 class ISO 3506/1 M 10x35 UNI 5739 10
200A |Screw M 10x30 2
235 |Washer EN 1.4301(AISI 304) 10.5 UNI 8842 12
244 |Pin EN 1.4301(AIS| 304) \ / 4x15 1

Counterflange kit on request, see table p. 318-319

304

E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series-2 poles
65-250,80-160,80-200 and 80-250

consTrucTIoNs 3L S(.) 65-250,80-200,80-250 50 Hz

rev.0

1 34 7 32 4 26 4A 11 3 3A 75 24 77

305

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series-2 poles
65-250,80-160,80-200 and 80-250

consTrucTions 3L S(.) 65-250,80-200,80-250 50 Hz

rev.0
. N. FOR
N PART NAME MATERIAL DIMENSIONS STANDARD
1 UNIT
3LS 3LSH 3LSE

001 |Casing EN 1.4401 (AISI 316) 1
003 |Motor bracket Cast iron EN-GJL-200-EN 1561 1
003A |Adapter ring Cast iron EN-GJL-200-EN 1561 1]
004 |Casing cover EN 1.4401 (AISI 316) 1
004A |Screw for casing cover EN 1.4301(AISI 304) 2
EN 1.4404 (AISI 316L) for 22 kw 1

65-250 d=24 -
mm EN 1.4462 (Duplex stainless steel) for 30-37 kW 1
006 Coupling 80-200 d=24 mm EN 1.4404 (AISI 316L) for 22 kW See table p. 316 1
EN 1.4462 (Duplex stainless steel) for 30-37 kW 1
80-250 d=29 mm EN 1.4462 (Duplex stainless steel) 1
007 |Impeller EN 1.4401 (AISI 316) 1
011 |Mechanical seal SIiC/SiC/FPM \ Ceramic/Carbon/FPM \Sic/Carbon/EPDM See table p. 313-314-315 1
012 |Motor - 1
024 |Plug EN 1.4404 (AISI 316L) G3/8 EPE DRAWING 1
025 |Plug EN 1.4404 (AISI 316L) G3/8 EPE DRAWING 1
026 |"O"ring FPM EPDM 253.36x5.34 OR 6995 1
65-250 d=24 mm / EN 1.4404 (AISI 316L) / 30.5x40x2.5 EPE DRAWING 1
030 |Spacer 80-200 1
80-250 d=29 mm ! /
65-250 _ 1
032 |Key go200 | 24mm EN 1.4401 (AISI 316) 8x7x30 UNI 6604 1
80-250 d=29 mm 8x7x40 1
65-250 1

i d=24 M20x1.5

034 ::]fe"er 80-200 mm EN 1.4404 (AISI 316L) % UNI 7474 1
80-250 d=29 mm M24x2 1
042 |Foot for motor _ . Aluminium EPE DRAWING 2]
042A |Foot for pump Aluminium/zincked steel (only for 80-250/55) 3]
075 _|Washer (plug) EN 1.4404 (AISI 316L) 1
076 |Washer (plug) 1
077 O-r!ng (plug) FPM EPDM :
078 |O-ring (plug) 1
200 |Screw Stainless steel A2-70 class ISO 3506/1 M 12x45 UNI 5739 10
235 |Washer EN 1.4301(AISI 304) 13 UNI 8842 10
244 |Pin EN 1.4301(AISI 304) ‘ / 4x12 1

Counterflange kit on request, see table p. 322-323

[1] Only for 65-250/37 , 80-200/37 , 80-250/37 — 80-250/45 and 80-250/55
[2] N° for 1 unit=2 for 80-250/55
[3] N° for 1 unit=2 for 80-200/30 , 80-200/37 , 80-250/45

for 1 unit=1 for 80-250/55

306

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series-2 poles
65-250,80-160,80-200 and 80-250

consTrucTions ILP(.) 80-160 50 Hz

rev.0

7% 24 77

66 92 89 19 3 6 20 67 93

A
A ‘7l ]
=B
30 11 244 J
42
200
235 200A

307

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series-2 poles
65-250,80-160,80-200 and 80-250

consTrucTIoNs 3L P(.) 65-250,80-200/250 50 Hz

rev.0

| 92 66 89 19
|
‘ -

34— = e | | | N
— —

32— ‘ @)

— | i

7 ! -

4 ‘

78 \

B = 30 11 244 3

235 200 42

308

% E2ARA EBARA PUMPS EUROPE S.p.A.



3 series-2 poles

65-250,80-160,80-200 and 80-250

CENTRIFUGAL PUMPS

50 Hz

consTrucTions 3L P(.)

rev.0

30§ 80§ Viv

/ L\

309

EBARA PUMPS EUROPE S.p.A.

= Eaara



CENTRIFUGAL PUMPS 3 series-2 poles
65-250,80-160,80-200 and 80-250

consTrucTions 3L P(.) 80-160

50 Hz

rev.0
N° PART NAME MATERIAL DIMENSIONS STANDARD| N.FOR
1 UNIT
3LP \ 3LPH \ 3LPE
001 |Casing EN 1.4401 (AISI316) 1
003 |Support Cast iron EN-GJL-200-EN 1561 1
004 |Casing cover EN 1.4404 (AISI316L) 1
006 |Shaft EN 1.4404 (AISI316L)-Part in contact with liquid 1
006A |Flexible coupling Cast iron EN-GJL-250-EN 1561 See table p. 317 1
007 |Impeller EN 1.4401 (AISI316) 1
011 |Mechanical seal SiC/SiC/FPM ‘ Ceramic/Carbon/FPM ‘Sic/Carbon/EPDM See p. 313-314-315 1
012 |Motor - 1
019 |Bearing - See table p. 312 1
020 |Bearing - See table p. 312 1
024 |Plug EN 1.4404 (AISI316L) G3/8 EPE DRAWING 1
025 |Plug EN 1.4404 (AISI316L) G3/8 EPE DRAWING 1
026 |["O"ring FPM ‘ EPDM 227,96x5,34 OR 6895 1
030 |Spacer / EN 1.4404 (AISI316L) \ / 30.5x40x2.5 EPE DRAWING 1
032 |Key EN 1.4401 (AISI 316) 8x7x30 UNI 6604 1
033 |Key C 40 8x7x40 1
034 |Impeller nut EN 1.4404 (AISI 316L) M20x1.5 UNI 7474 1
042 |Pump support Zincked steel EPE DRAWING 1
042A |Base Zincked steel EPE DRAWING 1
044 |Protection Zincked steel EPE DRAWING 1
050 |Foot Aluminium EPE DRAWING 2
050A |Spacer for pump / /
050B |Spacer for pump / /
050C |spacer for protection / /
066 |Impeller side bearing cover Cast iron EN-GJL-200-EN 1561 1
067 |Motor side bearing cover Cast iron EN-GJL-200-EN 1561 1
075 |Washer (plug) EN 1.4404 (AIS| 316L) !
076 |Washer (plug) 1
077 O-r!ng (plug) FPM EPDM 1
078 |O-ring (plug) 1
089 |Snap ring Carbon tool steels TC 80 @40 UNI 7435 1
092 |'V"ring - VS-0030 !
093 |"V"ring 1
200 _|Screw Stainless steel A2 70 class ISO 3506/1 M 10x35 UNI 5739 10
200A |Screw M 10x30 2
235 |Washer EN 1.4301(AISI 304) 10.5 UNI 8842 12
244 |Pin EN 1.4301(AISI 304) ] / 4x15 UNI 6873 1

Counterflange kit on request, see table p. 318-319

See p.307-309

310

E2ARA

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series-2 poles
65-250,80-160,80-200 and 80-250

consTrucTIoNs 3L P(.) 65-250,80-200/250 50 Hz

rev.0
N° PART NAME MATERIAL DIMENSIONS STANDARD| N. FOR
1 UNIT
3LP \ 3LPH \ 3LPE

001 |Casing EN 1.4401 (AISI316) 1
003 |Support Cast iron EN-GJL-200-EN 1561 1
004 |Casing cover EN 1.4401 (AISI316) 1
004A |Screw for casing cover EN 1.4301(AISI 304) 2
006 |Shaft EN 1.4462 (Duplex stainless steel)-Part in contact with liquid 1
006A |Flexible coupling Cast iron EN-GJL-250-EN 1561 See table p. 317 1
007 |Impeller EN 1.4401 (AISI316) 1
011 |Mechanical seal SiC/SiC/FPM ‘ Ceramic/Carbon/FPM ‘Sic/Carbon/EPDM See p. 313-314-315 1
012 |Motor - 1
019 |Bearing - See table p. 312 1
020 |Bearing - See table p. 312 1
024 |Plug EN 1.4404 (AISI316L) G3/8 1
025 |Plug EN 1.4404 (AISI316L) G3/8 1
026 |"O"ring FPM EPDM 253.36x5.34 OR 6995 1
65250 404 mm / EN 1.4404 (AISI 316L) / 30.5x40x2.5 1
030 |Spacer 80-200 1
80-250  d=29 mm / 1
65-250 1
032 |Key go.00  924mMm EN 1.4401 (AISI 316) Bx7x30 UNI 6604 1
80-250  d=29 mm 8x7x40 1
033 |Key Cc40 10x8x60 UNI 6604 1
. 65-250 1
034 ':er"er 80—200ﬂ EN 1.4404 (AISI 316L) M20x1.5 UNI 7474 1
80-250  d=29 mm M24x2 1
042 |Pump support Zincked steel 1
042A |Base Zincked steel 1
044 | Protection Zincked steel 1
050 |[Foot (only for 35-250/22kW) Aluminium 2
Spacer 65-250 / /
050A for 80-200 Aluminium [1]

pump —
85-250 Aluminium [2]
Spacer 65-250 / /
050B P 80-200 Aluminium [3]

or pump —
85-250 Aluminium [4]
050C |Spacer for protection Aluminium [5]
066 |Impeller side bearing cover Cast iron EN-GJL-200-EN 1561 1
067 |Motor side bearing cover Cast iron EN-GJL-200-EN 1561 1
075 |Washer (plug) EN 1.4404 (AISI 316L) !
076 |Washer (plug) 1
077 O-r!ng (plug) FPM EPDM 1
078 |O-ring (plug) 1
089 |Snap ring Carbon tool steels TC 80 @ 50 UNI 7435 1
092 |"V" rfng R VS-0040 1
093 |"V"ring 1
200 |Screw Stainless steel A2 70 class ISO 3506/1 M 12x45 UNI 5739 10
235 |Washer EN 1.4301(AISI 304) 13 UNI 8842 10
244 |Pin EN 1.4301(AISI 304) ‘ / 4x12 UNI 6873 1

Counterflange kit on request, see table p. 318-319

[11 N° for 1 unit=2 only for 80-200/30 and 80-200/37
[2] N° for 1 unit=2 only for 80-250/45
[3] N° for 1 unit=1 only for 80-200/30 and 80-200/37
[4] N° for 1 unit=1 only for 80-250/45
[5] N° for 1 unit=2 only for 80-250/45

See p.308-309

311

E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series-2 poles
65-250,80-160,80-200 and 80-250

CONSTRUCTIONS : BALL BEARING 50 Hz
rev.0
Pump type Ball Bearing

Pump side Fan side
3LM(.) 80-160/11 ) i
3LM(.) 80-160/13 6308 2RS1-C3 | 6208 2RS1-C3
3LM(.) 80-160/15 ) )
3LM(.) 80-160/18.5 6309 2RS1-C3 | 6309 2RS1-C3
3LS(.) 65-250/30
3LS(.) 65-250/37 631222 6312 2Z
3LS(.) 80-160/11
3LS(.) 80-160/15R : )
3LS(.) 80-160/15 6209 ZZ-C3 6209 ZZ-C3
3LS(.) 80-160/18.5
3LS(.) 80-200/22 6210 ZZ-C3 6210 ZZ-C3
3LS(.) 80-200/30
3LS(.) 80-200/37 6312272 6312 27
3LS(.) 80-250/37
3LS(.) 80-250/45 6313 272 6313 ZZ
3LS(.) 80-250/55 6314 6314 1)

Pump type Ball Bearing
Pump Motor

Pump side Motor side Pump side Fan side
3LP(.) 65-250/30 ) )
3LP(.) 65-250/37 6310 2RS1-C3 | 6308 2RS1-C3 6312272 6312 27
3LP(.) 80-160/11
3LP(.) 80-160/15R ) : i
3LP(.) 80-160/15 6308 2RS1-C3 | 6306 2RS1C3 | 6209 ZZ-C3 6209 ZZ-C3
3LP(.) 80-160/18.5
3LP(.) 80-200/22 6210 ZZ-C3 6210 ZZ-C3
3LP(.) 80-200/30
3LP(.) 80-200/37 ) ) 6312 27 6312 2Z
3LP(.) 80-250/37 6310 2RS1-C3 | 6308 2RS1-C3
3LP(.) 80-250/45 6313 Z2Z 6313 ZZ
3LP(.) 80-250/55 6314 6314 1
1) Motor available with lubrificator for regular re-greasing of bearing.

312

= Eaara

EBARA PUMPS EUROPE S.p.A.



3 series-2 poles

CENTRIFUGAL PUMPS

65-250,80-160,80-200 and 80-250

CONSTRUCTIONS 50 Hz
rev.0
MECHANICAL SEAL
L VERSION
L
L2
‘ 0 W/RA\\ NNND
o
g |
- 4 3 | 0
3 o S 4+ g %
N N
ASY { | ASY
o o o NZ =y |
Manufacturer Reference Dimensions Material
1 2 3 4
. Material | d1 | d2 | d3 | d4 | d5 L1 | L2 | Stationary| Rotary Frame
Manuf. Description - . . )
Description seal ring | seal ring rubber + spring
30 | 24 | 44 | 39 | 45 31 |11.5 ) . EN 1.4571
Burgmann | M377GN85-R | Q1Q1VGG 35 | 29 | 29 | 44 | 50 31 (115 SiC SiC FPM (AISI 316Ti)
313

 E3ARA

EBARA PUMPS EUROPE S.p.A.



I
CENTRIFUGAL PUMPS 3 series-2 poles

65-250,80-160,80-200 and 80-250

CONSTRUCTIONS 50 Hz

rev.0

MECHANICAL SEAL
H VERSION

L1 L2

S1

J
%
#

e
ASY
| 4 3 2 1 3
2y S
w |
‘ 4N
Manufacturer Reference Dimensions Material
1 2 3 4
Manuf. | Descrintion Material dl | d2 | d3 | d4 | d5 | s1 L L1 | L2 |Stationary| Rotary Frame
) P Description sealring | sealring | rubber + spring
UNITEN 3 30 | 24 | 46 | 39 | 45 | 25 |425|325| 10 . EN 1.4401
Roten ryNimeN k| XY XY2VY |35 [ 29 | 50 | 44 | 50 | / |42.5/32.5] 10| CaPon | Ceramic | FPM [ i1 316)

314

% ESARA EBARA PUMPS EUROPE S.p.A.



T —
CENTRIFUGAL PUMPS 3 series-2 poles

65-250,80-160,80-200 and 80-250

CONSTRUCTIONS 50 Hz

rev.0

MECHANICAL SEAL

E VERSION
L
L1 L2
| @ NN\ %
e}
1SS
— 4 5 2 1 3 0
S o N - -
e} e}
ASY i ASY
OO0 O o ZN >
) kt. ﬁ
Manufacturer Reference Dimensions Material
1 2 3 4
M s Material dl | d2 | d3 | d4 | d5 | L | L1 | L2 |Stationary| Rotary Frame
anuf. Description - . ) .
Description seal ring | seal ring rubber + spring
30 | 24 | 44 | 39 | 45 |425] 31 |11.5 . EN 1.4571
Burgmann | M377GNX-R| Q1BEGG 35 | 29 | 49 | 44 | 50 1425| 31 | 115 Carbon SiC EPDM (AISI 316Ti)

315

% ESARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series-2 poles

65-250,80-160,80-200 and 80-250

consTrucTions 3LS(.) 50 Hz
rev.0
COUPLING
E
S X X
T |
= | 1
- = = ——— e —————— =
Type pumps Motor Dimensions mm
kW | Hp | Size | Type| d1 d2 | d3 L M X h S E
Size Standard
65-250/30 30 | 40 | 200
65-250/37 37 150 | 200 55 | 85 M12x12 |UNI 5923 | 59.3 | 16
80-160/11 11 | 15 | 160
80-160/15R | 15 | 20 | 160
80-160/15 15 | 20 | 160 24 42| 63 M&x8 UNI 5929 453 | 12 184
80-160/18.5 [18.5| 25 | 160 B35 114
80-200/22 22 30 | 180 48 72 M10x10 51.8 14
80-200/30 30 | 40 | 200
80-200/37 37 | 50 | 200
80-250/37 37 | 50 | 200 55 | 85 M12x12 | UNI 5923 59.3 | 16 206
80-250/45 45 | 60 | 225 29 24x2
80-250/55 55 | 75 | 250 60 | 89 | 144 644 | 18 | 218
316

= Eaara

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series-2 poles
65-250,80-160,80-200 and 80-250

consTrucTions SLP(.) 50 Hz

rev.0

FLEXIBLE COUPLING

N |
- J1 | . .
S | s -
| .
— b
PUMP SIDE MOTOR SIDE
Motor Dimensions mm
Pumps type | kW | Hp | ool type| D1 | D2 | c1 | c2 | 1 H2
65-250/30 30 | 40 | 200
65-250/37 37 | 50 | 200 32 55 10 16 353 59.3
80-160/11 11 | 15 | 160
80-160/15R 15 | 20 | 160
80-160/15 15 20 | 160 24 42 8 12 27.3 45.3
80-160/18.5 | 185 25 | 160 B3
80-200/22 22 | 30 | 180 48 14 51.8
80-200/30 30 | 40 | 200
80-200/37 37 | 50 | 200
80-250/37 37 50 | 200 32 55 10 16 35.3 59.3
80-250/45 45 | 60 | 225
80-250/55 55 75 | 250 60 18 64.4
317

% E2ARA EBARA PUMPS EUROPE S.p.A.



3 series-2 poles

CENTRIFUGAL PUMPS

65-250,80-160,80-200 and 80-250

CONSTRUCTIONS

50 Hz

COUNTERFLANGE ZINCKED STEEL

rev.0

F
‘ E ‘
= IR | I
A v
s L 1
o Counterflange Screw
SN _N" Holes 218 DN| D E | F| H|H | L | M| SN |DMENSIONS| MATERIAL
65|G21/2[ 145 [ 185 | 23 | 14 | 104 | 88 4 M16x55 Zn. Steel 8.8
80 G3 160 | 200 24 16 |117.5] 100 8 M16x60 strenght class
100 G4 180 | 220 29 16 144 | 125 8 M16x60 1ISO 898-1
COUNTERFLANGE EN 1.4404 (AISI 316L) 65 series
£
D
SN N Holes 218 ‘ |
T
I
| )
] M
(@]
L
F
Counterflange Screw
DN D E F H H1 L M SN [DIMENSIONS| MATERIAL
65 |G21/2] 145 | 185 | 40 16 103 80 4 M16x55 A2-70 class
80 G3 160 | 200 42 18 122 92 8 M16x60 1ISO 3506-1
COUNTERFLANGE EN 1.4404 (AISI 316L) 80 series
£
. D
SN _N° Holes 218
|
NI |
- ‘ T | :
— ! —
] L |
F
Counterflange Screw
DN D E F H H1 L SN | DIMENSIONS| MATERIAL
80 | G3 | 160 | 200 | 35 24 | 138 8 M16x70 A2-70 class
100 | G4 | 180 | 220 | 35 20 | 150 8 M16x70 1ISO 3506-1

= Eaara

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series-2 poles

65-250,80-160,80-200 and 80-250

CONSTRUCTIONS 50 Hz
rev.0
GASKET
DN M M1
65 80 125
. 80 | 90 | 140
Thickness 2 100 | 115 | 160
Material: FPM for L and H versions
EPDM for E version
319

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series-2 poles

65-250,80-160,80-200 and 80-250

pivensions 3L M(.)

50 Hz

rev.0

80-160/11 — 80-160/13

617

317

8 — #18

225
155
DN100,

178
225

)

Pumps weight
80-160/11 : 94 kdf
80-160/13 : 97 kgf

2180

13
180

4-915

400

= Eaara

EBARA PUMPS EUROPE S.p.A.



3 series-2 poles

65-250,80-160,80-200 and 80-250

CENTRIFUGAL PUMPS

50 Hz

pivensions 3L M(.)

rev.0

evl |G1]0z]G'66L [8SL[ e [09] e[ S9[GeL [0ze |05z | S6 |Gzl €L [Szz |08l [Sov [2z |00z [SeL [ 08 | vz |See [08L [SSL [ 004 | 5'81/09L-08 (IWTE
06l G102/ G661 | 85| ZLE 09| ¥LE |S9 |Gzl |0Z€ |0SC | 6 | Sel |€L |52z | 08L | S0V |22 | 002 |SEL | 08 |¥2 |52z |08L 1SSk | 00L | L/09L-08 (JNTE
163] [eals 0 d Vv [€T| 21 |TN|] N |ZN | IN | M d |VH| ¢H | TH H [2S5]¢2¢d | 2d [ZNA|TS| 1A | T | Td |INd
SIETN
[ww] suoisuswiqg adA) dwnd
. _ _
(6]
S
-
Z R
Slg—eN
Sve
N
IN 7 0z 00§ ) 7 d
Ca8—¥.N N Gz 4‘ ,
8/5 9 AR 7 % 7
! o——
@ _VTL\ ““““ = [T |
: \V/ E = A
T * \\v _ !
z - _ﬂ q
= m = B =y
Y ” == -1
(&3] | — S—
T ) S um
N
o Q

8/¢ 9

8lp — 8

@1
| L
iz9d 129d 717
ZNG
Zd
ZQ
g

esS

401

EBARA PUMPS EUROPE S.p.A.

= Eaara



CENTRIFUGAL PUMPS

3 series-2 poles
65-250,80-160,80-200 and 80-250

piMENsions 3L S(.)

50 Hz

M40 M40

317

rev.0

225
155

350

241

9314

225

405

180

- @—%ﬁ.‘ «
Pump type
Weight
L B C [kgf]
3LS(.) 80-160/11 210 | 826 | 306 135
3LS(.) 80-160/15R 210 | 836 | 316 147
3LS(.) 80-160/15 210 | 836 | 316 147
3LS(.) 80-160/18.5 | 254 | 880 | 316 155

|| N4-g15

402

EBARA PUMPS EUROPE S.p.A.



50 Hz
rev.0

GEE |OSIN OSI |9LIN 61 | €6€ | G°'LZ 69€ 0€0L L9€ 09 8L 00% |8LE | SOE 08 09L 00 SLE|0ZL Gzl Gl LyE|08Z 00Z 087 2Z 00Z GEL ¢ 08 +Z|S2Z 08L GSL | 00L  L€/0S2-08 ()STE ™
00Z |OVIN OFPIN ZLIN Gl GFE S09 62€ | SE6 ¥SE | ¥2E 99 0€€ 6.2 LvZ S9 G2l | GbE 082 G6 (G2l | €L 99Z 062 08L OSy 22 002 SEL ¢ | 08 ¥Z G2z 08L GSL 00L& 2z/00Z-08 ()S1E m
0ce |OSIN OSSN |9LIN |6l €6€| G'L¢ LvE L/6 LSE€ 09€ 8L 00¥ 8Lt SOE 08 (091 09€ 08¢ 0OCL 00L |Sl|LlvE | 0SC 00C 0S¥ OC <8L OcCL L G9 ¢¢ 00C 091 s€L | 08 1€/05¢2-69 ('S¢
€0€ |OSIN OSIN 9L |6l | €6€| 'L LvE L[6 LSE€ 09€ 8L 00¥ 8Lt SOE 08 (091 09¢€ 08C 0OCL 00L |Sl|LvE | 0SC 00C 0S¥ OC <8L OCL L G9 Z¢ 00C 091 s€L | 08 0€/052-69 ()S1€
BB [ ZA LA [ sa ed © 4 o} a V §1/€1 2117 1 LN IN (2N IN M | ¥ ¥H €H ZH H H TS 2a ad B4 ZNQ LS| 1A M | Id ING
yBrapm

[ww] suoisuawiqg adf} dwng

3 series-2 poles

65-250,80-160,80-200 and 80-250

piMeNsions 3L.S(.)

CENTRIFUGAL PUMPS

5 -
[ o
[
Stig I .o_.._
818 — ¥
N 7 B 3
N 7 S |
cao— ] ¥ 7 4_
8/¢ 9 7 Gax ¥ M
1 | N JERE _
- N = .
>
= BN 8
: m = |I= |
J d ! b — - - - g =
= m = ||= =
s : = a
= —T1 S — | 1
F —_— &* ||
L L IS
8/¢ 9 _m @é ]
L] e
NG
— 173
8l - 8 " Zd
Za
v g

EBARA PUMPS EUROPE S.p.A.




3 series-2 poles

65-250,80-160,80-200 and 80-250

CENTRIFUGAL PUMPS

50 Hz

pimensions 3LS(.)

rev.0

404

oY 9L 8L Zhy 2Z€ G8E 60LL Z9€ G/E 06 0Zv 9GE LLE 00L GOl GL¥ SLE 0ZL GZ 09€ 08¢ GZZ GOS S¥/0GZ-08 SE
GZE ZZ ¥l €6€ S'/Z L¥e 200L ¥SE 09€ 8L 00F 8LE GOL 08 OEL 09¢ 08Z S6 0Z LvE 0GZ 002 0S¥ L€/002-08 SE
90€ 2Z ¥l €6€ S§'/Z L¥e 200L ¥GE 09€ 8L 00F 8LE SOE 08 OEL 09¢ 082 S6 0Z LbE 0GZ 002 0Sy 0€/002-08 SE€
BB vaeal © 14 O g V 61 €121 1 1 LW W /[2ZN IN M |¥H €H ZH IH H
B
adA} dwng
7 7 ol o
vd9—v.N
¢N a1
IN 7 3 7 ) 7 Gzl
Cap—P.N M SIN X b W
|
M
|
-
T 1 —h =
b
W |
T s
” = — -
a5 Beb
- ” — — °
T
" = —
z L ] S0 R
| L|
m i \

00¢

[44

EBARA PUMPS EUROPE S.p.A.

——J =TT



CENTRIFUGAL PUMPS

3 series-2 poles
65-250,80-160,80-200 and 80-250

pimensions 3LS(.) 50 Hz
rev.0
3LS(.) 80-250/55
Pump weight: 489 kgf
i
= 3
I el g ¢
\
\
\
-
t T/El % pul I le
g =l 1l | - 2
g 0 1 T | ‘
Ik LN% i o
- B . S . 0ot
| l ©
288 H — e
z < “m"
5 405

EBARA PUMPS EUROPE S.p.A.



rev.0

50 Hz

3 series-2 poles

65-250,80-160,80-200 and 80-250

pivensions 3LP(.)

CENTRIFUGAL PUMPS

22€ TOSWTOSNT 8 [9LIN]6L] - [00ZL [000L [SO¥ [0ZF [622]22€) [29€ [09% [ 06S [0€S [ G2l [09 [ L¥E [082 [00Z [0¥S [2Z 002 [SEL | ¢ | 08 [¥Z |Scz [SSL [00L 1£/052-08 ()d1E
2S¢ [ovN|OovIN] 8 [ZLN6L | - [00Z) [ 000} [99€ [0t [ZLL[0LEL [ #S€E [ 09% | 06S | 0€S [S2) |09 | 992 |0SZ [08) | 067 [2Z [00Z [SEL | 2 | 08 |#2|Sze |SSh [ 00k 22/002-08 ()d1e
68l [orN|OvIN] S [ZLINSL [0Z][000L | 008 [GEE |09€ [2S9[S¥LL [ZLE€[0€EE |0zZF | 08€E [SG2) [0S |9ve [Sez [08) [GS¥ [2z |00z [SeL | 2 | 08 |#2[Sze |SSL [00L | S'8L/091-08 ()d1E
9/L |OPN|O¥N| S [ZLIN[GI [0zZ|000L | 008 [S€€ |09 [€1L9[LOLIL [Z1€ |0EE |0z |08€ [Ge) [0S |9ve |Sze |08L [SSv [2z |00z [SEL| ¢ | 08 |z |Sez |SSL | 0oL G1/091-08 ()d1g
9/l [o¥N|OvN] S [ZLN]SL [0Z][000L | 008 [GEE|09€ [€L9[LOLL [ZLE|OEE |02ZF |08€E [SG2) [0S |9ve [Sez [08) [SSY (22 |00z [SeL | 2 | 08 |#2[Sze|SSh [00L | ¥SL/091-08 ()d1E
791 [OPN|OvIN] S [ZLIN[GL [0Z[000L | 008 [GEE [09€ [€L9[LOLL [ZLE[0EE |02ZF | 08€E [SZ) [0S |9ve |Sez [08) |SS¥ (22 |00z [SEL | 2 | 08 |+ |Szz |SSL [ 00k 11/091-08 ()d1E
€/€ |0SW [0S | 8 [9LN|6L | - [00ZL | 000) |SOF [0L% |62 |2S€EL | 2S€ | 09% [ 065 [0€S [00L |09 | L¥E [0SZ [00Z [0LS [0z [g8)L [0zl | L | S9 |2z |00z |SEl | 08 1€/052-69 ()d1e
¥G€ |OSW[0SIN| 8 [9LIN]6L | - [00ZlL [ 000} |SOF [0/ [624|2S€EL | 2S€ | 09% [ 065 [0€S [00L |09 | L¥E [0Sz [00Z [0LS [0z [g8)L [0zl | L | G9 |zz |00z |SEL | 08 0€/052-69 ()d1e
B6M] [ za | TA ['ds|sa [vafs| 1L 3 [o|0o|ta] 9@ |V [eN]aN|IN| o [vH|€EH |[2H |[TH | H |zS|za |zd [ Bid[zNna|TS| Ta | Td [ING

1ybom

[ww] suoisuswi@ adA1 dwng
IN 3 00l

vas - ¥

H
L
2
)
o
)
=
p
‘dS
S

LH

406

EBARA PUMPS EUROPE S.p.A.

1a

Z
f
¢H
99
E

2

8/¢ 9 mﬁj

és

8l - 8




CENTRIFUGAL PUMPS 3 series-2 poles
65-250,80-160,80-200 and 80-250

pivensions 3LP(.)

50 Hz

rev.0

22

N

4

225
185 _
DN100

Pump type

Weight
H H1 H2 H3 A B Bl G S V1 V2 [kgf]
3P 80-200/30 | 510 | 180 | 250 | 341 | 357 | 1377 | 779 | 405 | 20 | M50 | M50 | 356
3P 80-200/37 | 510 | 180 | 250 | 341 | 357 | 1377 | 779 | 405 | 20 | M50 | M50 | 365
3P 80-250/45 | 565 | 200 | 280 | 360 | 367 | 1456 | 858 | 463 | 25 | M50 | M50 | 440

407

= Eaara

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series-2 poles

65-250,80-160,80-200 and 80-250

piMENsIons SLP(.)

50 Hz

3LP(.) 80-250/55

1570

972

rev.0

367

225
155

390

#516

470 4 x M20 /

100, 1100

Pump weight: 528 kgf

605

408

= Eaara

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series-2 poles
65-250,80-160,80-200 and 80-250

pACKING AND WEIGHT SLM(.) — 3LS(.) 50 Hz

rev.0
| —
\\
—
N
\P\\[
\ ~
PUMPS WITH MOTOR
Pump type PACKING [mm] | WEIGHT
x|y | z [Kdl
3LM(.) 80-160/11 100
3LM(.) 80-160/13 700 390 ) 533 103
3LM(.) 80-160/15 137
3LM(.) 80-160/18.5 880 | 390 518 151
3LS(.) 65-250/30 322
3LS(.) 65-250/37 1100] 500 | 717 339
3LS(.) 80-160/11 141
3LS(.) 80-160/15R | 880 | 390 | 518 153
3LS(.) 80-160/15 153
3LS(.) 80-160/18.5 | 970 | 390 | 588 162
3LS(.) 80-200/22 219
3LS(.) 80-200/30 325
3LS(.) 80-200/37 1100 500 | 717 344
3LS(.) 80-250/37 354
3LS(.) 80-250/45 429
3LS(.) 80-250/55 1400 600 | 817 517
409

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series-2 poles
65-250,80-160,80-200 and 80-250

pIMENSIONS AND WEIGHT L P(.) 50 Hz

rev.0

\
— N\

PUMPS WITH MOTOR
Type pumps PACKING [mm] WEIGHT
X Y z [Kg]
65-250/30 1352]  590] 601 354
65-250/37 1352] 590/ 601 373
80-160/11 1101| 420/ 476 164
80-160/15R | 1104| 420| 476| 176
80-160/15 1101 420 476| 176
80-160/18.5 | 1145 420| 476| 185
80-200/22 1310/ 590/ 506 252
80-200/30 1377/  590| 601 356
80-200/37 1377/ 590 601 365
80-250/37 1377/ 590 601 377
80-250/45 1465/ 590| 645 440
80-250/55 1570/ 680 715 528

410

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series-2 poles
65-250,80-160,80-200 and 80-250

MOTOR DATA 50 Hz
rev.0
Power Motor Input Fullload current Locked rotor current
Pump type [kw] [A]
KW Hp Size Type F‘)I'hh;z: Three phase Three phase
400 V 690 V 400 V 690 V
3LM(.) 80-160/11 11 15 132 12.7 21 12.1 140.7 81.2
3LM(.) 80-160/13 13 17,5 15.2 25.3 14.6 182.2 105.2
3LM(.) 80-160/15 15 20 160 ’ 17.4 29.8 17.2 214.6 123.9
3LM(.) 80-160/18.5 18,5 25 21 37.8 21.8 287.3 165.9
3LS(.) 65-250/30 30 40 200 321 53.3 30.8 415.7 240
3LS(.) 65-250/37 37 50 38.5 64.2 37.1 494.3 285.4
3LS(.) 80-160/11 11 15 12.2 20.9 12.1 140 80.8
3LS(.) 80-160/15R 15 20 160 14.3 24.3 14 175 101
3LS(.) 80-160/15 15 20 16.7 28.3 16.3 203.8 117.7
3LS(.) 80-160/18.5 18,5 25 B35 20.3 34.1 19.7 259.2 149.6
3LS(.) 80-200/22 22 30 180 23 38.6 22.3 285.6 164.9
3LS(.) 80-200/30 30 40 325 53.9 311 420.4 242.7
3LS(.) 80-200/37 37 50 200 37.3 62.6 36.1 482 278.3
3LS(.) 80-250/37 37 50 38.4 64.1 37 493.6 285
3LS(.) 80-250/45 45 60 225 48.3 79.2 45.7 617.8 356.7
3LS(.) 80-250/55 55 75 250 59.2 98.1 56.6 735.8 424.8
3LP(.) 65-250/30 30 40 200 32.1 53.3 30.8 415.7 240
3LP(.) 65-250/37 37 50 38.5 64.2 371 494.3 285.4
3LP(.) 80-160/11 11 15 12.2 20.9 12.1 140 80.8
3LP(.) 80-160/15R 15 20 160 14.3 24.3 14 175 101
3LP(.) 80-160/15 15 20 16.7 28.3 16.3 203.8 117.7
3LP(.) 80-160/18.5 18,5 25 B3 20.3 34.1 19.7 259.2 149.6
3LS(.) 80-200/22 22 30 180 23 38.6 22.3 285.6 164.9
3LS(.) 80-200/30 30 40 325 53.9 311 420.4 242.7
3LS(.) 80-200/37 37 50 200 37.3 62.6 36.1 482 278.3
3LS(.) 80-250/37 37 50 38.4 64.1 37 493.6 285
3LS(.) 80-250/45 45 60 225 48.3 79.2 45.7 617.8 356.7
3LS(.) 80-250/55 55 75 250 59.2 98.1 56.6 735.8 424.8
500

= Eaara

EBARA PUMPS EUROPE S.p.A.



	3 series 80 - version
	Contents
	Contents

	Specifications
	Pump specifications
	Motor specifications
	Selection chart
	Selection chart
	Selection chart
	Perf. chart
	Perf.chart 65-250
	Perf.chart 80-160
	Perf.chart 80-200
	Perf.chart 80-250


	Constructions
	Sectional view 3LM(.) 80-160/11 80-160/13
	Sectional view 3LM(.) 80-160/15 80-160/18.5
	Constructions 3LM(.) 80-160
	Sectional view 3LS(.) 80-160
	Constructions 3LS(.) 80-160
	Sectional view 3LS(.) 65-250 80-200/250
	Constructions 3LS(.) 65-250 80-200/250
	Sectional view 3LP(.) 80-160
	Sectional view 3LP(.) 65-250 80-200/250
	Sectional view 3LP(.)
	Constructions 3LP(.) 80-160
	Constructions 3LP(.) 65-250 80-200/250
	Ball bearing
	Mechanical seal L version
	Mechanical seal H version
	Mechanical seal E version
	Constructions 3LS(.) coupling
	Constructions 3LP(.) coupling
	Fittings
	Fittings

	Dimensions
	Dimensions 3LM
	Dimensions 3LM
	Dimensions 3LS
	Dimensions 3LS
	Dimensions 3LS
	Dimensions 3LS
	Dimensions 3LP
	Dimensions 3LP
	Dimensions 3LP
	Packing and weight 3LM(.) - 3LS(.)
	Dimensions and weight 3LP(.)

	Motor data
	Technical data



	rev: 
	0: rev.0



